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QUESTION 1

How does the Deployment Assistant enable you to reduce the size of the installation to be deployed? 

A. By limiting the size ofdbspaces. 

B. By removing specific databases. 

C. By removing specific product features. 

D. By removing all free space at the end of a chunk. 

Correct Answer: C 

 

QUESTION 2

What two parameters can affect how often checkpoints occur? (Choose two.) 

A. LOGSIZE 

B. PHYSFILE 

C. LTAPEDEV 

D. BUFFERPOOL 

E. BAR_PROGRESS_FREQ 

Correct Answer: AB 

 

QUESTION 3

What output is NOT reported by the dbschema utility? 

A. The database logging mode. 

B. The schemas of remote databases. 

C. The table definitions without owner names. 

D. Theonspaces commands to re-create your systems\\' dbspaces. 

Correct Answer: A 

 

QUESTION 4

How does the Deployment Assistant enable you to reduce the size of the installation to be deployed? 

A. By limiting the size ofdbspaces. 
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B. By removing specific databases. 

C. By removing specific product features. 

D. By removing all free space at the end of a chunk. 

Correct Answer: C 

 

QUESTION 5

Which of the following privileges is NOT valid for a table fragment? 

A. ALL 

B. INSERT 

C. UPDATE 

D. CREATE INDEX 

Correct Answer: D 

Latest C2090-919 Dumps C2090-919 Practice Test C2090-919 Exam Questions

Powered by TCPDF (www.tcpdf.org)

Latest C2090-919 Dumps | C2090-919 Practice Test | C2090-919 Exam Questions                                3 / 3

https://www.pass4itsure.com/c2090-919.html
https://www.pass4itsure.com/c2090-919.html
https://www.pass4itsure.com/c2090-919.html
http://www.tcpdf.org
https://www.pass4itsure.com/c2090-919.html
https://www.pass4itsure.com/c2090-919.html
https://www.pass4itsure.com/c2090-919.html

